N & 0l & At

2021 = =0 &b LB A NIR21t

TONIR2t
M DFEE NLAHE RS
2 XEAH deges g4

= = o

g Al

M. G (3H) - HEAY - B2 ﬁlf& HD=2
522,156 557,983 N 35,827
J SNE S 511,508 545,647 AN 34,139
XA Al T g4 511,508 545,647 AN 34,139
N> 25 196,011 195,583 428
01 LBt A H| 194,101 193,673 428
01 AFR 22l ] 21,832 21,479 353
1)L et 2| 21,832
)RS A 23 T2 1,350
JNHEHE 50,000& *25& 1,250
K eHALR 100,000& 1 100
2)0l M Hl 14,502
e MiI=EE 30& %14 ,000%& 420
JNeede AE2EE 362 *121,500& 4,374
NXEFHEM KHEDXA 60,0002 404 Xt 2,400
J)SEHAM(HE) DX A
60,000 * 104 Xt 600
NNYASKH(SA,24) 402 DIA
60,000& =24+ Xk 120
3)E=AE DAAM 60,000& x 164 Xt 960
3)otL 2 40,000& « 1224 Xt 4,880
JINESTUN B U2 (223)
110& 6,800 748
2Q)EE2E2 HZ 5,980
NNLHELS B2 40
69, 300& *8IH A x73] 3,881
NANLANEE EE ZAH
5,000& *2005 *23] 2,000
NANLANEE EL2 HiHY 33, 000& *3H 99
02 352494l 172,269 172,194 75
NRER2 172,269
2)estem 2 380& *383,00024 145,540
2)SIIBE 2 2,480& *9,550H 23,684
2)etE 2 2,100& *1,45021 3,045
HeE=HY 1,910 1,910 0
A F=XHRFAY| 1,910 1,910 0
NXEA ENEsS 1,910,000& 1,910
N MEgds & 232,360 241,883 N9,523
2 A Y| 227,092 232,531 N5,439
NEEEIT 67.570 68,534 N
1)L et 2| 67,570
2)0l M Hl 55,744
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TONIR2t
D 2EE NYAE 7S
D NYA MEsSE 94

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
NESED XA 96& x70,000%& 6,720
VM DX A (1p) 873 %28, 000& x12& 29,232
)M D XA (2p) 52& *8,000& x12& 4,992
NASE Mot & oA
40,000& *3704¢ X+ 14,800
2)J1EH Mix=%=2 10,146
s L HMESI SX2  1,0008 *500H 500
B0 =22 320,000& *15A 4,800
JNZEML AEHE X3 &2 (HHW)
1,320,000& 14 1,320
NZEME BXUAZAAEH 222 (HH)
3,525,500& x 14 3,526
)/ 2dLY 1,680
XA SHAAMNRAKS 22
70,000& *3H x4 3] 840
NKELA Mo 24
70,000& x6H x23] 840
02 3524t 159,522 ,997 N4 475
NRER2 158,802
2)dEILE 2 380& *400,69421 152,264
2)SoIfEa2 2,480& x2,38221 5,908
2)ets2 2,100& *300AH 630
NEHY 2gs 22 200& *3,600H 720
203 ¥ R =&Y 3,010 ,010 0
03 Al =X H R =X Y| 3,010 ,010 0
NDHSE HEz s8ss 2,220,000 2,220
NHYE AHE s28s 790,000& 790
303 A2 2,258 ,342 N4 ,084
01 ZAZ 2,258 ,342 N4,084
NDHEZAZ 2,258
2)1XE 69,000, 000& *1% 690
2)2xE = 19,934,000& *3% 599
2)3xE & 19,380, 000& *5% 969
HSE X &= 49,518 ,238 N32,720
201 Bt A | 24,918 ,638 AT20
01 AP 22l Yl 1,422 ,713 A 291
A2 XA 58,300& x54¢ Xt 292
NEE ZegEX 330,000& =14 330
NEXS 400& *2,000%& 800
02 =294l 23,496 ,925 N 429
NEXNHESAAE 2H SAE%
9,395,800& x 1 9,396
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X{ XH -
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NI 221t

S8 NLHNE 2

CNEA Al

c‘ggﬂ c.r/\-l

SN FHE - EA(SA) - MEAY - BES il Bl DE2
DIHZEHE FEsAAE 29 SAES
3,960,000 *2CH 114 7,920
NAGIE=E S 70,0009 «7CH* 122 5,880
NHSHAX XY MIISHHIE 25,0002 128 300
203 YR E A ] 1,600 1,600 0
03 AR =X AR =AY 1,600 1,600 0
NHSHAR S S 1,600,0002! 1,600
303 &3 23,000 23,000 0
01 Z&3 23,000 23,000 0
NEFD? DEHSRYXY AXNEZNS
200,000,000 *10% 20,000
NEFAE UHSHMALRY AXNENS
30 000,000 *10% 3,000
NYASH(BE#EAS)MDHEH X 29 33,619 25,943 7,676
101 Q1244 14,898 14,648 250
04 JIZHM2E2RSEES 14,898 14,648 250
DIYASKH ADLGR oY E=20
2,236,7209 6% « 12 13,421
1400 282 13,421,0002 *11% 1,477
201 LBt A 18,221 10,795 7,426
01 At 22l 12,821 4,395 8,426
DADHEH A5 ¢ 150,000 20 3,000
NARY S2E2H| 2,849
2)SMEX(DXA £) 30,000 *208 A 600
2)ElgtAS 550! *500% 275
2QHIEEA M2 100,000 +2H 200
)&= A=A 4,000 *20H 80
2)0r3 & 2tatol 121,000 = 14H 1,694
N xz 6,972
PC+R2LIE (17CH) 60,0002 = 17CH 1,020
SADLIE (110H) 22,0002 *11CH 242
2)Z 2IE (10CH) 40,0002 = 10CH 400
2)ZRIEH EU(18%H) 30,0002 187K 540
ERHUIIAI A (TVESE) 1,500,000 «1CH 1,500
e 30,0002 «6H 180
pua=g=) 25,0002 * 121 300
WESD Fdl(2TH) 50,0002 *2H 100
HWEXD FH(2RII) 30,0009 *1CH 30
WEST ZHI(3lE) 20,0002 *3CH 60
HWERT &X 40,0002 * 193] & 760
WERD 24 =Y 300, 000 *13] 300
2)2BIIHH| 770,000 *2CH 1,540
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AN N2

M ZFs NLNE 2E

&2 XYA MEESE 4 (&)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
02 =224l 5,400 6,400 1,000
1)S &l 5,400,000 =1 & 5,400
203 YR =2t 500 500 0
03 A FXH S Z=AY| 500 500 0
DXXA ADME HRFH 500,000& 500
HH2F A 10,648 12,336 A 1,688
Jl2ZHl(M<21t) 10,648 12,336 A 1,688
Jl2ZHl(MS21t) 10,648 12,336 A 1,688
201 Let24d] 5,608 7,416 A 1,808
01 AP 2teltl 5,608 7,416 21,808
NAeEERY 10,000& *34H »43| 1,360
NEMLDE 722 3,448
2)Z2d Ty 23 616,000 =3MI E 1,848
2)ZEH EH, E8 S 200,000 *4CH *23 1,600
DARI1Il |22 800
2)= AL 100,000 = 1CH x4 3 400
2)2AFE S| 100,000 »1CH x4 3] 400
203 YR =&t 5,040 4,920 120
04 EA2IYRFLH| 5,040 4,920 120
1)30¢2! Ol ot 400,000 123 4,800
1)31e! 0l & =2t 5,000 »4H « 128 240
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